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1 Overview

This document lists all the changes needed to correct issues in the ATS iwd-TTCN3-B2019-06_D20wk38 related to the title of this CR.

Contact:
Kalahasti, Narendra

Narendra.Kalahasti@anritsu.com
2 Corrections required
2.1Change
	Function name
	f_TC_7_1_1_5_2_NR_TestBody()

	Reason for change
	DRX timing stored correctly at step7 to use correctly at step11 as per prose R5-204420
“last PDCCH occasion when the drx-RetransmissionTimerDL for the DL MAC PDU indicated on the PDCCH in Step 7 is still running”

	Summary of change
	Use v_Timing3 instead of v_Timing

	TTCN module
	DRX_MAC_TC_Common_NR.ttcn

	MCC160 Comment
	


Before change

  function f_TC_7_1_1_5_2_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC

  { /* L2/MAC

     * 7.1.1.5.2 : DRX operation / Short cycle not configured / Long DRX command MAC control element reception

     */

    const UInt_Type tsc_DrxStartOffset := 7; // in ms @sic R5-202609 sic@

    const UInt_Type tsc_HarqProcessId :=0; //Arbitrarily selected

    const UInt_Type tsc_DRXRetransTimer_DL := 80;// in slots

    const UInt_Type tsc_DRX_HARQ_RTT_TimerDL := 4;// in slots 56/14

...

  //@siclog "Step 7" siclog@

    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_LongDRXCycle * v_SlotsInSubframe);

    //v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing2, 5 + tsc_DRX_HARQ_RTT_TimerDL-2);

    //v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing2, v_SlotsInframe+5);

    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal,cs_TimingInfo_NR(v_Timing)));

    // With HARQ RTT = 4slots, and DL-UL Periodicity =5 slots, it should be in the first PDCCH occasion in Drx-RetransmissionTimerDL

     v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing, v_SlotsInframe);

     //v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing2, 5 + tsc_DRX_HARQ_RTT_TimerDL);

     //v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing2, 2*v_SlotsInframe);

    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));

....     

    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL2, cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));

   //@siclog "Step 11" siclog@

   // HARQ Retransmision timer =80 ms, K1+ RTT+DRXRetrans timer

   v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing3, v_NR_K1+tsc_DRX_HARQ_RTT_TimerDL+tsc_DRXRetransTimer_DL-1);
   v_Timing := f_NR_LastDL_Slot(nr_Cell1,v_Timing);//@sic R5s201104 sic@

   //v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing2, 8*v_SlotsInframe);

   DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));

....

    //@siclog "Step 12" siclog@

    // Check: Does the UE transmit a HARQ NACK for the DL MAC PDU in Step 11?

    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 11");

    t_Watchdog.stop;


};
After change

function f_TC_7_1_1_5_2_NR_TestBody(DRB_Identity p_NR_DRB_Id) runs on NR_BASE_PTC

  { /* L2/MAC

     * 7.1.1.5.2 : DRX operation / Short cycle not configured / Long DRX command MAC control element reception

     */

    const UInt_Type tsc_DrxStartOffset := 7; // in ms @sic R5-202609 sic@

    const UInt_Type tsc_HarqProcessId :=0; //Arbitrarily selected

    const UInt_Type tsc_DRXRetransTimer_DL := 80;// in slots

    const UInt_Type tsc_DRX_HARQ_RTT_TimerDL := 4;// in slots 56/14

...

    //@siclog "Step 7" siclog@

    v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing1, v_LongDRXCycle * v_SlotsInSubframe);

    //v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing2, 5 + tsc_DRX_HARQ_RTT_TimerDL-2);

    //v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing2, v_SlotsInframe+5);

    f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Error1AndNormal,cs_TimingInfo_NR(v_Timing3)));

    // With HARQ RTT = 4slots, and DL-UL Periodicity =5 slots, it should be in the first PDCCH occasion in Drx-RetransmissionTimerDL

     // REMOVED v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing, v_SlotsInframe);
     //v_Timing3 := f_NR_SubFrameTiming_AddSlots(v_Timing2, 5 + tsc_DRX_HARQ_RTT_TimerDL);

     //v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing2, 2*v_SlotsInframe);

    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing3), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));

    //@sic R5s200899 sic@

    //@siclog "Step 8A" siclog@

    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing3, v_NR_K1 + tsc_DRX_HARQ_RTT_TimerDL-1);

    v_Timing := f_NR_LastDL_Slot(nr_Cell1,v_Timing); //@sic R5s201104 sic@

    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL2,cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));

    //@siclog "Step 9" siclog@

    //v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing2, 3*v_SlotsInframe+5);

    // f_NR_SS_L1_TestModeConfig(nr_Cell1, cas_NR_L1_TestMode_DL_SCH_CRC_REQ(nr_Cell1, Normal,cs_TimingInfo_NR(v_Timing)));

    //@sic R5s201104 sic@

    v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing, 4*v_SlotsInSubframe);

    v_Timing := f_NR_NextDL_Slot(nr_Cell1,v_Timing);

    DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL2, cs_NR_HarqProcessAssignment(tsc_HarqProcessId+1)));

   //@siclog "Step 11" siclog@

   // HARQ Retransmision timer =80 ms, K1+ RTT+DRXRetrans timer

v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing3, v_NR_K1+tsc_DRX_HARQ_RTT_TimerDL+tsc_DRXRetransTimer_DL-1);
   v_Timing := f_NR_LastDL_Slot(nr_Cell1,v_Timing);//@sic R5s201104 sic@

   //v_Timing := f_NR_SubFrameTiming_AddSlots(v_Timing2, 8*v_SlotsInframe);

   DRB.send(cas_NR_DRB_COMMON_REQ_MAC_PDUList(nr_Cell1, p_NR_DRB_Id, cs_TimingInfo_NR(v_Timing), v_MAC_PDUListDL, cs_NR_HarqProcessAssignment(tsc_HarqProcessId)));

...

    //@siclog "Step 12" siclog@

    // Check: Does the UE transmit a HARQ NACK for the DL MAC PDU in Step 11?

    SYSIND.receive(car_NR_SYSTEM_UL_HARQ_IND(nr_Cell1, ack));

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 11");

    t_Watchdog.stop;

  };
